
 

ΘΕΜΑ 2 

∆ίνονται τα διανύσµατα α
r

 και β
r

 µε β 2 α 4= =
r r

 και α β 8⋅ = −
r r

. 

α) Να υπολογίσετε τη γωνία 

Λ

α,β
 
 
 

r r

. 

(Μονάδες 10) 

β) Να αποδείξετε ότι β 2α 0+ =
r r

. 

(Μονάδες 15) 

 

 

ΑΠΑΝΤΗΣΕΙΣ 

α) 

Λ
α β 8

συν α,β 1
2 4α β

  ⋅ −
= = = − 

⋅ 

r r
r r

r r  

Άρα 

Λ

α,β
 
 
 

r r

=180
ο
. 

 

β) α β↑↓
r r

 οπότε α λβ=
r r

 µε λ<0, οπότε α λ β=
r r

 ή 2 λ 4= ⋅  ή 
1

λ
2

=  ή 
1

λ
2

= −

(λ<0). 

Άρα 
1

α β 2α β β 2α 0
2

= − ⇔ = − ⇔ + =
r r r r r r r

. 

 


